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Answers

1. Option B

/
The distance between (*1:¥1) and (¥2: %) is 4 / (%2 — z1)? + (Y2 — ¥1)2

Therefore, the distance between the points (2, -2) and (-1, x)

=V (12 + (@~ (-2))’

= 5= vf"'(—gjﬂ + (z+2)2

Squaring both sides, we get
2
(5)2 = (1\;’9 +(z+ 2}2)

25 — 9 + (z +2)?

25 =9+ x4 444z
24+ 4x+13-25=0
2 +4x—12=0

24+ 6z — 2z —12=0
z(z+6) —2(x+6)=0
(x—2)(z+6)=0
=2 —6
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Hence, the values of x are 2 and -6.

2. Option C

Solution

It is given that, a = x3y2 and b = xy3, where x, y are prime numbers.

LCM (a, b) = LCM (x3y?, xy>)
The highest of indices of x and vy

x3y3

Hence, LCM (a, b) is x3y3.

3. Option b
4. Option a
5. Option c
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6. Option a

7. Option a

8. Option b

9. Option a
10. Option a
11. Optionb
12. Optionc 16
13. Optiona
14. Optiond
15. Optionc
16. Option a
17. Optionb
18. Option b

19. Optiond
20. Option FF
21.

Given V'3 is irrational number

Let 2 + V3 is rational number.

then2 ++v3 = 2
. q
'\f'lIE: p _q
q

—

is rational it mean

Since V3 is irrational number but
q
irrational = rational

which contradict,
-~ our assumption is wrong and

2 + /3 is irrational number.

22,
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Let the angle of elevation of the Sun is 6.

Given, height of pole = h

Now, in AABC,

=2

tan § = Ac=- D
BC v3h

=tan 30° =06 = 30°

Hence, the angle of elevation of the Sun is 30°.
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As the height of the Observeris 1.5
AE =22-1.5=20.5

In AAED
tan@ = SE _205_, g _ 4s0
ED =205

Therefore, answer is 45°

22

When three coins are tossed together, the total number of outcomes = 8
ie,(HHH,HHT,HTH, THH, TTH, THT ,HTT,TTT)

a) 3¥s
b)4/8=1/2
Cc) 7/s
d)3/8

24,
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27.
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33. Proof of Basic Proportionality theorem
34.

X QP _MODEL Mathematics




X QP _MODEL Mathematics




35.

Here, it is given that Median = 28.5andn = ¥ f; = 60
Cummulative frequency table for the following data is given.

n
Heren = 60 = E=3D

Since, median is 28.5, median classis 20 — 30
Hence,]l = 20,h =10,f =20,c.f.=5+x

n
——cf
Therefore, Median =1 + ( 2 : il
_ TT—F="1
28.5—20+|[—2D )10

~085=00+ 2%

= 85x2=25-X
=x=8

Also, 45 +xX+v =60
=y=60-45-x=15-8=7.

Hence,x =8,y =7

Class - interval Frequency Cumulative
frequency
0-10 5 5
10-20 x B e
20 - 30 20 23 i
30 - 40 [5 40 +x
40 -50 y 40 +x+y
50 - 60 5 Bty
Total n = 60
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OR

nber of Wickets Number of Bowlers (f;) Class Mark (x;) §73.1]
20 - 60 7 20;60: 7 % 40 = 280
60 + 100
60 - 100 5 T=80 5x 80 =400
100 — 150 16 100+150_ 125 16 x 125 = 2000
150 + 250
150 — 250 12 - - 200 12 x 200 = 2400
250 — 350 2 Mz 300 2 x 300 = 600
350 — 450 3 7350 ; 450= 400 3 x 400 = 1200
>fi=45 Y fix; = 6880

1 I
This problem can be solved using direct method as class interval is different.

We know tha,
Mean () = =1
>
=152.89
36.
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height of the tower _ 42_ 1
distance from the towerd2
- T = 42

distance

distance =

1. To find the angle of elevation, tan B =

42

v3

distance = 24.64 m
0 = tan™' (1) = 45°

2. To find the distance, tan 60° = [eightof the tower 42
dis tan ce distan ce
JT = 4z
'3 distance
distance = “;
distance = 24.64 m

o = height of the towe
3. To find the height of the verticle tower,tan 60° = == =e

4\3 = height ;f the tower
O

height of the tower = 2043

_ ) tan © = height of the tower
4. To find the angle of elevation of the sun, distance from the tower

= %{sin ce the ratiosarein1:1)
8 = tan’'(1) = 45°

37.
Volume of cylindrical container=1R2

H=1rx62x15=540Trcm’

Let radius of base of conical portion be 'r’, then diameter=2r
and height=2x2r=4r

10xvolume of each cone=volume of container
=>10[31r2h+321r3]=5401r=10%311[r2%4r+2r3]=5401r
=6r3=162=

r3=27-r=3

27=3cm

~.Diameter =2r=2x3=6cm

38.
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Given that

First row has 30 seats, and each succeeding row has 10 seats more

than the previous one

So, this is an AP with
Firstterm=a =30

Common difference =d = 10

We need to find how many seats will be there in the 10t row

i.e. We need to find a,,

We know that
a,=a+(n-1)d
Puttingn =10, a=30,d =10
a,,=30+(10-1)x 10
=30+9x10
=30+90

=120

Thus, there are 120 seats in the 10t row
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